
1) Mrs Tiwana flies on holiday in three long flights. 
Flight 1: London to Brazil.
Flight 2: Brazil to Dubai.
Flight 3: Dubai to Shanghai.

	London

	947km
	Jamaica

	699km
	642km
	Brazil

	836km
	120km
	788km
	Dubai

	217km
	142km
	938km
	215km
	Shanghai


How many kilometres does Mrs Tiwana fly in total?
2) Mr Wallen wants to fly to Shanghai. There are two possible routes that he can take.
Route 1: 	London to Jamaica
		Jamaica to Shanghai.
Route 2:	London to Brazil
		Brazil to Shanghai
Which route should Mr Wallen choose if he wants to travel the shortest distance?

3) Three children are swimming for charity. Roksana swims 192 metres, Charlotte swims 215 metres and Amelia swims 247 metres. 
They have to swim 600 metres in total. Have they reached their target?

4) Mrs Banat-Rinz is working out 347 + 93 + 21. 
	H
	T
	O

	3
	4
	7

	9
	3
	

	2
	1
	

	4
	8
	7


1

a) What mistake has Mrs Banat-Rinz made?


b) [bookmark: _GoBack]What is the correct answer?
